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[T 5E EA:1] F.Lap
1 15 HYTRAINE 33.997
2 11 TeamfE 34.882
3 16 bears 35.255
4 10 Team TRK 35.494
5 1 Team father's 35.606
6 17 axEOT 36.522
7 14 = 37.112
8 7 A—/\—k—0O— 37.203
g 13 F—LiE 37.363
10 23 A=N—="G 15> 37.945
11 22 EEERE 38.177
SEEE g
| ETivd SE Z Rl L ]
1 15 HTRINE /b‘hé% 10
2 11 10 10. 34.
3 16 bears /7::1:::7’)\ 10 12. 34.
4 10 Team TRK/Ua* 10 12.860 34.
5 17 XEE-T/AUEH 10 21.578 35.111
6 7 A—/\—k—O—/668 10 22.750 35.912
7 13 F=LEE/ 1155 10 22.970 35.774
8 1 Team father’ s/UamF/58 10 30.258 34.640
g 14 #HE/F255 10 34.030 36.536
10 22 REERE /37 10 36.134 36.826
11 23 A=IN—="J15/ZLL\L 9 iLap 37.710
chER i

[\ ¥ ap

1 15 HBTRIDE/EES 10 -

2 10 Team TRK/Y/3# 10 4.745 33.565
3 11 TeamiE/&&IcL 10 6.640 34.014
4 1 Team father’ s/V/ #1858 10 12.207 33.720
5 22 BEEERE/E<5 10 15.038 34.545
6 16 bears/»<¥F 10 16.981 34.827
7 23 A=IN="J15 /L\LHE 10 21.296 35.181
8 17 EXEOT /12D 10 21.638 34.526
9 7 AZ—/\—k—0—/KKkp 9 iLap 36.463
10 14 HE/99E 9 1Lap 36.110
11 13 F—LiE/H¥ 9 iLap 36.953

ATk
B ap

1 0 Team TRK//MNAER 10 -

2 5 HY7RA9DE /LWL 10 4.497 33.494
3 1 TeamfE/ 85 10 3.506 33.571
4 6 bears/&Eb 10 6.649 34.395
5 1 Team father s/a%/3\ 10 2.132 33.847
6 17 EXEOT/LLLY 10 1.586 34.680
7 22 EEERIRE /L 10 2.015 35.023
8 14 A 9 1Lap 35.417
9 13 F—=L§E/ 1155 9 iLap 35.038
10 23 A=IN=J15/LLED 9 iLap 36.316
11 7 A—I—k—0—/KC 9 iLap 36.847

90

-4 aps = F.Lap
1 15 H$7R9DE 148 -
2 10 Team TRK 145 3Laps
3 11 Teamiig 145 3Laps 33.412
4 1 Team father's 144 4Laps 33.522
5 17 TEEIoT 142 6Laps 33.692
6 22 RERERE 141 7Laps 34.097
7 16 bears 141 7Laps 34.144
8 7 A—=/I\—k—0O— 136 12Laps 34.643
g 14 e 135 13Laps 34.550
10 23 A=IN="T1T2 134 14Laps 34.636
11 13 F—LE 134 14Laps 34.012

XF—LEE EviEiB+2Laps
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